
15

 2 Tens and Ones

30 ones  =  3 tens

10 ones  =  1 ten

Tens Ones

3 4
34  =  3 tens 4 ones thirty-four

3 0
4

There are 3 tens
and 4 loose ones.
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5. Add or subtract.
 (a) 19  +  5  (b) 27  +  3  

 (c) 26  +  6  (d) 5  +  28 

 (e) 30  –  8  (f ) 29  –  4 

 (g) 40  –  3  (h) 22  –  6 

 (i) 3  +  8  +  7  (j) 9  +  4  +  6

6.  Eva played a hopping game.  
She hopped 6 spaces, then another 8 spaces,  
and then another 4 spaces.  
How many spaces did she hop altogether?

7.  23 people are at a swimming pool.  
8 more people come to the pool.  
How many people are at the pool now?

8.  Sue has 22 pears.
 Mary has 20 pears.
 Sue gives away 5 pears.
 Mary gives away 2 pears.
 Who has fewer pears now?
 Explain your answer.
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 5  +  5  +  5  =  

 3 fives  =  

There are 4 oranges 
in each group. 4  +  4  +  4  +  4  +  4  +  4  =  

 6 fours  =  

 6  +  6  =  

 2 sixes  =  

There are 6 pineapples 
in each group.

There are 5 pears 
in each group.

Fill in the missing number.
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 2 tens is greater than 1 ten.

 21 is greater than 12.

 We write: 21 > 12

 0 ones is less than 9 ones.

 90 is less than 99.

 We write: 90 < 99

 5 Comparing Numbers

I always take the greater amount.

This sign means
greater than.

This sign means
less than.

<

 We write: 21 > 12

 0 ones is less than 9 ones.

Tens Ones
2 1
1 2

Tens Ones
9 0
9 9

>

G1_TB B_5thproof_U16_19Apr.indd   93 19/04/14   3:02 PM



110

8. Subtract 14 from 56.

56  –  14  =  

9. Subtract 32 from 78. 

78  –  32  =  

56  –  10  –  4

78  –  30  –  2

 Tens Ones
 7 8
– 3 2
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